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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper. i

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. (a) Define Organisational behaviour. Explain its

various determinants,

(b) “Supportive Model of Organisational Behaviour is
the best in all situations.” Comment,

OR

(c) “OB is relatively a young field of study that
borrows many concepts and methods from the
behavioural and social Sciences.” Elaborate.

(d) Discuss the challenges & opportunities of
Organisational Behaviour in the present-day post
covid environment, '

2. (a) Explain the personality traits that have relevance
from the p01nt of view of Organlsatmnal
Behaviour.

(b) Describe the components of attltudes and dlSCllSS
its sources of formation.

OR _
(c) What is operant conditioning? How is it different
from classical conditioning?

(d) What do you mean by the term ‘perception’? What
are the factors influencing perception?

3. (a) Critically examine McGregor’s Theory X and
Theory Y of motivation.
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(b) “It is feedback that completes the process of
communication”, Comment.

OR

(c) What are the common barriers to communication
In an organisation? How can they be overcome?

(d) Discuss various quadrants of JOHARI' window.

4', (a) “Informal groups formed in an organisation are -
not necessarily bad”. Do you agree? Justify.

(b) Write a note on the ‘Managerlal Grid’ Leadershlp
Theory as given by Blake & Mouton.

OR

(c) “High group cohesiveness leads to high'
productivity.” Do you agree? Discuss.

(d) Differentiate between Transformational leadership
and Transactional Leadership.

5. (a) Discuss the functional and dysfunctional aspects
 of conflicts in organisations.

(b) Explain the concept of organisational culture. How
should a good organisational culture be developed
and maintained for efficient working of the
organization?

OR

P.T.O.
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(¢) “Prevention & Management of Stress 18 the nee

of the hour for the successful functioning of
(he modern organisation.” Describe various
strategics commonly adopted by the individuals and
organisations to deal with it.

(d) Mr. Roshan is the supervisor of the 25 unskilled

workers unit working in an aluminium wire
manufacturing firm. To reduce costs, the
managcnicnt decided to install mechanized
materials-handling equipment. Since the workers
lacked training and knowledge about the
productivity and cost reduction effects of this
equipment, the supervisor had to work a lot to
introduce the change by involving all of them in it.
Ultimately, the new equipment was installed with
the active cooperatibn of his workers.

After a few months, considering Mr. Roshan’s

.success, he was asked to install a sophisticated

quality control equipment in another department
among a group of technical workers. Since this
group consisted of educated employees, who are
in a better position to understand the company’s
problems, he expected little opposition to the
proposed change. Accordingly, unlike last time, he
did not make much effort before introducing the
new equipment, Contrary to his expectations, the
group resisted tooth and nail the introduction of

the new system until it was given up. However,

the mistake proved to be very costly to Mr. Roshan.
He lost his job.
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Questions ¢

(1) How do you explain the behaviour of the
two groups in accepting or rejecting the
change contemplated by the management?

(4)

(1) What should have been done by the
supervisor to avoid resistance by the
technical group of workers to the proposed
change? | - (3.5)
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